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DM 0302 17 15 14 16 18 12,5 115 7 17 16 125 85 155 155 13,5 19 145 145 11,5 18 11,5 ‘f7,5 14,5 185 12,5 105 14,3 7,0 12,5 14,5 16,0 19,0

19,00 15,33 14,00 15,67 18,00 12,33 11,33 6,67 16,67 16,00 12,67 15,67 13,67 19,00 14,33 14,67 12,00 11,33 17,67 14,67 18,33 12,67 14,4 6,7 12,3 14,7 16,0 19,0

55 1,0 43 47 63 90
29 00 30 30 30 30

Calcul Delta 0,00

Nbr et calc racines 0,00 28 00 3,0 30 30 3,0

Tableau signe 0,00 10 00 00 00 20 3,0

Transfo ineq 27 00 30 30 30 30

Rédaction 0,00 1,7 00 1,0 20 20 3,0

Réponse o,00 0,00 0,00 0,00 09 00 00 00 20 30
1,5 1,0 1,0 15 20 20

Etrangetés
69 37 60 73 80 90

Dérivation 28 20 30 30 30 30
Etude de signe 23 10 20 20 30 30
Variations

Valeurs tableau
Simplification

1,8 00 00 30 30 30
1,7 00 00 30 30 30
19 00 20 20 20 20
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